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(8 What is the impulse response of the overall LTI system (i.e., from x(t) to y(t))? Give your answer
both as an equation and as a carefully labeled sketch.

(b) Isthe overall system acausal system? Explain to receive credit.

(c) Istheoveral system astable system? Explain to receive credit.

McClellan, Schafer and Yoder, Signal Processing First, ISBN 0-13-065562-7.
Prentice Hall, Upper Saddle River, NJ07458. (©) 2003 Pearson Education, Inc. [SO L UT I O N




g h @)= SGr) | h@ = $E-7), Al)e ul)
i @) = (h &) 4 4,60) ¥ )
Siys e

= (5@*7) + Sé ‘7)) X wE)

S(E+7) o w@E) + §(£-7\7x wdt)
U(E+2) + ule =)

S0 h

ovua |

$ b fe
I e [
]

i > +
=) 7

E)) Cowsel (£ h® =0 L4 <0 From

Greph cbove , hE) # 0 for t <o Thar<hie,
73 Sysf‘l’m 1S e C?auSq/,

) Smbe it (Thafe < o

W

— )

o 7 o%
For s Sy 5 feo § /%@/Jt: (J-ML (zc/-b = o0
— B <1 -
W‘Lft the systera 1S net s Fable,

McClellan, Schafer, and Y oder, Sgnal Processing First, ISBN 0-13-065562-7.
Prentice Hall, Upper Saddle River, NJ 07458. © 2003 Pearson Education, Inc.



